Franz-Jürgen Delvos Mean square approximation by optimal periodic interpolation

Applications of Mathematics, Vol. 40 (1995), No. 4, 267-283

Persistent URL: http://dml.cz/dmlcz/134294

# Terms of use:

© Institute of Mathematics AS CR, 1995

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://dml.cz

# MEAN SQUARE APPROXIMATION BY OPTIMAL PERIODIC INTERPOLATION

FRANZ-J. DELVOS, Siegen

(Received February 25, 1993)

Summary. Following the research of Babuška and Práger, the author studies the approximation power of periodic interpolation in the mean square norm thus extending his own former results.

Keywords: mean square approximation, periodic Hilbert space, exponential interpolants, optimal periodic interpolation

AMS classification: 65D05

### **0.** INTRODUCTION

Babuška [1] introduced the concept of the periodic Hilbert space for studying optimal quadrature formulas, Práger [8] continued these investigations and related these problems to the minimum norm interpolation (optimal periodic interpolation) in periodic Hilbert spaces. These ideas have been further developed in a number of papers [2, 3, 4, 5, 6, 7]. In this paper we will study the approximation power of optimal periodic interpolation in the mean square norm an thereby extended results of [4].

### 1. PERIODIC HILBERT SPACES

We denote by C the algebra of continuous complex-valued functions on  $\mathbb{R}$  with period  $2\pi$ . C is a Banach algebra with respect to the uniform norm  $||u||_{\infty} = \sup_{x \in \mathbb{R}} |u(x)|$ .

Next we denote by  $\mathcal{L}^2$  the Hilbert space of square integrable periodic functions with an inner product

$$(u,v) = \frac{1}{2\pi} \int_0^{2\pi} u(x)v(x)^* \,\mathrm{d}x.$$

The exponentials are given by  $e_k(x) = e^{ikx}$ ,  $k \in \mathbb{Z}$ . The finite Fourier transform of  $u \in \mathcal{L}^2$  is given by

$$(u, e_k) = \frac{1}{2\pi} \int_0^{2\pi} u(x) e_k(x)^* \, \mathrm{d}x, \qquad k \in \mathbb{Z}.$$

Its inversion is the Fourier series of u,  $\sum_{k=-\infty}^{\infty} (u, e_k)e_k$ , which converges in the  $\mathcal{L}^2$ -norm to u.

Next we introduce the Wiener algebra  $\mathcal{A}$  of functions  $u \in \mathcal{L}^2$  having absolutely convergent Fourier series.  $\mathcal{A}$  is a Banach algebra with respect to the norm

$$\|u\|_a = \sum_{k=-\infty}^{\infty} |(u, e_k)|.$$

Clearly,  $\mathcal{A}$  is a subalgebra of  $\mathcal{C}$ . We have the estimates

$$||u|| \leq ||u||_{\infty} \leq ||u||_{a} \qquad (x \in \mathbb{R}, u \in \mathcal{A})$$

and the inclusions

$$A \subset \mathcal{C} \subset \mathcal{L}^2.$$

To introduce the periodic Hilbert space  $\mathcal{H}_d$  we need a biinfinite symmetric positive  $l_1$ -sequence  $d = (d_k)$ , i.e., we have

$$d_{-k} = d_k > 0$$
  $(k \in \mathbb{Z}),$   $\sum_{k=-\infty}^{\infty} d_k < \infty.$ 

It is also convenient to assume the monotonicity condition

$$d_k > d_{k+1} \qquad (k \ge 0).$$

We define by  $\mathcal{H}_d$  the linear space of all functions  $u \in \mathcal{L}^2$  satisfying

$$\sum_{k=-\infty}^{\infty} \frac{1}{d_k} |(u, e_k)|^2 < \infty.$$

The inner product of  $\mathcal{H}_d$  is defined by

$$(u,v)_d = \sum_{k=-\infty}^{\infty} \frac{1}{d_k} (u,e_k) (v,e_k)^*.$$

We list some properties of  $\mathcal{H}_d$ . Each  $\mathcal{H}_d$  is a subspace of the Wiener algebra and therefore also of  $\mathcal{C}$ , the imbeddings being continuous:

$$\mathcal{H}_d \subset \mathcal{A} \subset \mathcal{C}.$$

We denote by  $\tau$  the algebra of trigonometric polynomials. For  $m \ge 0$  and  $u \in \mathcal{L}^2$  we denote by

$$S_m(u) = \sum_{k=-m}^m (u, e_k) e_k$$

the Fourier partial sum polynomial of u of order m. It is immediate that

 $\tau \subset \mathcal{H}_d$ 

and

$$\lim_{m \to \infty} \|u - S_m(u)\|_d = 0, \qquad u \in \mathcal{H}_d$$

Moreover,  $\mathcal{H}_d$  as well as its norm  $||u(\cdot -a)||_d = ||u||_d$  are translation invariant ( $u \in \mathcal{H}_d$ ,  $a \in \mathbb{R}$ ). The characterizing sequence  $d = (d_k)$  defines the kernel function

$$g(x) = \sum_{k=-\infty}^{\infty} d_k e_k(x)$$

which is an element of  $\mathcal{H}_d \cdot \mathcal{H}_d$  is a reproducing kernel Hilbert space with the kernel function g(y, x) = K(y, x). We have

$$u(x) = (u, g(\cdot - x))_d (u \in \mathcal{H}_d, \quad x \in \mathbb{R}),$$

which implies the estimate

$$|u(x)| \leq ||u||_d \cdot ||g||_d, \qquad ||g||_d = \sqrt{g(0)}.$$

We conclude this section by presenting two examples.

E x a m p l e 1. The sequence d is given by

$$d_0 = 1, \qquad d_k = k^{-2r} \qquad (k \neq 0).$$

Here r is a positive integer. The periodic Hilbert space is the periodic Sobolev space  $\mathcal{W}^r$ . The kernel function is given by

$$g(x) = 1 + (-1)^r B_{2r}(x)$$

where  $B_q(x)$  denotes the Bernoulli function (polynomial) of degree q.

E x a m p l e 2. In this case the sequence d is given by

$$d_k = \mathrm{e}^{-|k|b} \qquad (k \in \mathbb{Z})$$

where b is a positive real number. The periodic Hilbert space consists of restrictions of functions to the real axis which are holomorphic in the strip |Im(z)| < b. The kernel function is in this case the well known Poisson kernel

$$g(x) = \frac{\sin h(b)}{\cos h(b) - \cos(x)}$$

#### 2. Optimal periodic interpolation

We first treat the problem of interpolation with shifts of the kernel function g which are related to the knots  $x_j$ ,  $0 \leq j < n$ , satisfying

$$0 \leqslant x_0 < x_1 < \ldots < x_{n-1} < 2\pi.$$

It follows from the theory of trigonometric interpolation that for any data  $y_j$ ,  $0 \leq j < n$ , there is a trigonometric polynomial  $w \in \tau$  satisfying the interpolation conditions

$$w(x_j) = y_j, \qquad 0 \leq j < n.$$

If n = 2m + 1, then w can be made unique by assuming that w has order m, i.e.,  $w \in \tau_m$ . If n = 2m then  $w \in \tau_m$  exists and can be made unique by deleting  $\cos(mx)$  or  $\sin(mx)$  depending on the position of knots.

The space of interpolating functions related to g is given by

$$\langle g(\cdot - x_0), g(\cdot - x_1), \ldots, g(\cdot - x_{n-1}) \rangle$$
.

**Proposition 2.1.** The space  $\langle g(\cdot - x_0), g(\cdot - x_1), \ldots, g(\cdot - x_{n-1}) \rangle$  has dimension n.

Proof. Recall that

$$u(x) = (u, g(\cdot - x))_d$$
  $(u \in \mathcal{H}_d, x \in \mathbb{R}).$ 

Let  $w_k \in \tau_m$  be a trigonometric polynomial satisfying

$$w_k(x_j) = \delta_{j,k}, \qquad 0 \leq j, k < n.$$

Thus

$$(w_k, g(\cdot - x_j))_d = \delta_{j,k}, \qquad 0 \leqslant j, k < n,$$

which yields the linear independence of the shifted functions  $g(\cdot - x_0), g(\cdot - x_1), \ldots, g(\cdot - x_{n-1})$ .

Let  $Q_n$  denote the unique orthogonal projector having the *n*-dimensional space  $\langle g(\cdot - x_0), g(\cdot - x_1), \ldots, g(\cdot - x_{n-1}) \rangle$  as its range:

$$\mathcal{R}(Q_n) = \langle g(\cdot - x_0), g(\cdot - x_1), \ldots, g(\cdot - x_{n-1}) \rangle.$$

For  $u \in \mathcal{H}_d$  the function  $Q_n(u)$  is the unique best approximation of u in  $\langle g(\cdot - x_0), g(\cdot - x_1), \ldots, g(\cdot - x_{n-1}) \rangle$ .

**Proposition 2.2.** Given  $u \in \mathcal{H}_d$ , the best approximant  $Q_n(u)$  of u in  $\langle g(\cdot - x_0), g(\cdot - x_1), \ldots, g(\cdot - x_{n-1}) \rangle$  is also the unique interpolant of u at  $x_j, 0 \leq j < n$ , with the minimum norm in  $\mathcal{H}_d$ :

- (i)  $Q_n(u)(x_j) = u(x_j), \ 0 \le j < n;$
- (ii)  $||Q_n(u)||_d = \min\{||v||_d : v(x_j) = u(x_j), 0 \le j < n\}.$

`r o o f. The characterization of the best approximation in Hilbert spaces yields the equation

$$(u-Q_n(u),g(\cdot-x_j))_d=0 \qquad (0 \leq j < n).$$

Taking into account

$$u(x) = (u, g(\cdot - x))_d$$

we obtain

$$Q_n(u)(x_j) = u(x_j), \qquad 0 \leqslant j < n.$$

This proves (i).

As a consequence there exists a Lagrange basis

$$h_0, \dots, h_{n-1} \quad \text{of} \quad \langle g(\cdot - x_0), g(\cdot - x_1), \dots, g(\cdot - x_{n-1}) \rangle :$$
$$\langle g(\cdot - x_0), \dots, g(\cdot x_{n-1}) \rangle = \langle h_0, \dots, h_{n-1} \rangle,$$
$$h_k(x_j) = \delta_{j,k}, \qquad 0 \leq j, k < n.$$

Using the Lagrange basis of  $\langle g(\cdot - x_0), \ldots, g(\cdot - x_{n-1}) \rangle$  it follows from  $u(x_j) = v(x_j)$ ,  $0 \leq j < n$ , that  $Q_n(u) = Q_n(v)$ . Taking into account

$$(v - Q_n(v), Q_n(v))_d = 0$$

we can conclude

$$(v,v)_d = (Q_n(v), Q_n(v))_d + (v - Q_n(v), v - Q_n(v))_d \ge (Q_n(u), Q_n(u))_d$$

with equality if and only if  $v = Q_n(u)$ . This proves (ii).

## 3. Optimal periodic interpolation on uniform meshes

In this section we treat the much more explicit case of uniformly distributed knots:

$$x_j = \frac{2\pi}{n}j, \qquad 0 \leqslant j < n.$$

It is easily established that the space of interpolants

$$\langle g(\cdot - x_0), \ldots, g(\cdot - x_{n-1}) \rangle$$

is translation invariant with respect to the mesh size  $\frac{2\pi}{n}$ :

$$w \in \langle g(\cdot - x_0), \dots, g(\cdot - x_{n-1}) \rangle \Rightarrow w \left( \cdot - \frac{2\pi}{n} \right) \in \langle g(\cdot - x_0), \dots, g(\cdot - x_{n-1}) \rangle.$$

Thus the Lagrange basis  $h_0, \ldots, h_{n-1}$  of  $\langle g(\cdot - x_0(, \ldots, g(\cdot - x_{n-1})) \rangle$  is obtained by translation:

$$h_k = h_0(\cdot - x_k), \qquad 0 \leqslant k < n.$$

Thus the interpolation projector  $Q_n$  possesses the Lagrange representation

$$Q_n(u)(x) = \sum_{j=0}^{n-1} u(x_j) h_0(x - x_k).$$

We will now use the discrete Fourier transform to obtain an alternative representation of the optimal periodic interpolant  $Q_n(u)$ . Recall that the discrete Fourier transform of u is defined by

$$c_{k,n}(u) = \frac{1}{n} \sum_{j=0}^{n-1} u(x_j) e_k(x_j)^*, \qquad 0 \leq k < n.$$

The inverse Fourier transform is given by

$$u(x_j) = \sum_{k=0}^{n-1} c_{k,n}(u) e_k(x_j), \qquad 0 \leqslant j < n$$

The fundamental property of the discrete Fourier transform is the convolution theorem. Let w be the discrete convolution of u and v:

$$w(x_k) = \sum_{j=0}^{n-1} u(x_j) v(x_k - x_j) = \sum_{j=0}^{n-1} u(x_j) v(x_{k-j}).$$

Then the convolution theorem yields

$$n \cdot c_{k,n}(u)c_{k,n}(v) = c_{k,n}(w), \qquad 0 \leq k < n.$$

Next we are looking for a trigonometric polynomial

$$a \in \langle e_0, \ldots, e_{n-1} \rangle$$

such that the optimal periodic interpolant  $Q_n(u)$  is given by

$$Q_n(u)(x) = \sum_{j=0}^{n-1} a(x_j)g(x-x_j).$$

The interpolation conditions yield the convolution equation

$$u(x_k) = \sum_{j=0}^{n-1} a(x_j)g(x_k - x_j).$$

Now the convolution theorem implies

$$c_{k,n}(u) = n \cdot c_{k,n}(a) c_{k,n}(g).$$

Since  $g \in \mathcal{A}$  aliasing is applicable and we get

$$c_{k,n}(g) = \sum_{r=-\infty}^{\infty} d_{k+rn} > 0.$$

Thus we have

$$c_{k,n}(a) = \frac{c_{k,n}(u)}{n \cdot c_{k,n}(g)}, \qquad 0 \leq k < n.$$

Using the inverse discrete Fourier transform we obtain

$$a(x_j) = \sum_{k=0}^{n-1} \frac{c_{k,n}(u)}{n \cdot c_{k,n}(g)} e_k(x_j), \qquad 0 \le j < n.$$

It is obvious that the trigonometric polynomial is given by

$$a(x) = \sum_{k=0}^{n-1} \frac{c_{k,n}(u)}{n \cdot c_{k,n}(g)} e_k(x).$$

**Proposition 3.1.** Let  $u \in \mathcal{H}_d$ . Then the optimal periodic interpolant  $Q_n(u)$  with respect to the uniform knots  $x_j = \frac{2\pi}{n}j$ ,  $0 \leq j < n$ , is given by

$$Q_n(u)(x) = \sum_{j=0}^{n-1} \left( \sum_{k=0}^{n-1} \frac{c_{k,n}(u)}{n \cdot c_{k,n}(g)} e_k(x_j) \right) g(x - x_j).$$

Note that for  $u = h_0$  we get

$$c_{k,n}(h_0) = \frac{1}{n}, \qquad 0 \leqslant k < n.$$

This implies the representation formula for the fundamental Lagrange function  $h_0$  of optimal periodic interpolation

$$h_0(x) = \sum_{j=0}^{n-1} \left( \sum_{k=0}^{n-1} \frac{1}{n^2 \cdot c_{k,n}(g)} e_k(x_j) \right) g(x - x_j).$$

Remark 3.1. It follows from the proof of Proposition 3.1 that this result remains valid for any  $g \in C$  if and only if

$$c_{k,n}(g) \neq 0, \qquad 0 \leqslant k < n.$$

See Locher [7], Cheney [2]. If these conditions are violated for some k, a modified approach is possible. See Delvos [3].

### 4. EXPONENTIAL INTERPOLANTS

We apply the representation formula of Proposition 3.1 to the exponentials  $e_k$ . In this connection it is appropriate to list some properties of the projector  $Q_n$  of optimal periodic interpolation. Since the kernel g is real valued we have

$$Q_n(f^*) = Q_n(f)^*.$$

As a special case we have

$$Q_n(e_{-k} = Q_n(e_k)^*, \qquad k \in \mathbb{Z}.$$

Moreover, for the sequel it is convenient to assume

$$n = 2m + 1.$$

**Proposition 4.1.** The exponential interpolants are given by

$$Q_n(e_k)(x) = \frac{1}{c_{k,n}(g)} \sum_{r=-\infty}^{\infty} d_{k+rn} e_{k+rn}(x), \qquad 0 \leq k < n.$$

Proof. Recall that for arbitrary u we have

$$Q_n(u)(x) = \sum_{j=0}^{n-1} a(x_j)g(x - x_j)$$

with

$$a(x_j) = \sum_{l=0}^{n-1} \frac{c_{l,n}(u)}{n \cdot c_{l,n}(g)} e_l(x_j), \qquad 0 \leq j < n.$$

Replacing u by  $e_k$  the orthogonality properties of the discrete Fourier transform yield

$$c_{l,n}(e_k) = 0, \quad l - k \notin n\mathbb{Z},$$
  
$$c_{l,n}(e_k) = 1, \quad l - k \in n\mathbb{Z}.$$

Thus we get

$$a(x_j) = \frac{1}{n \cdot c_{k,n}(g)} e_k(x_j), \quad 0 \leq j < n.$$

Now we can conclude

$$Q_n(e_k)(x) = \frac{1}{c_{k,n}(g)} \cdot \frac{1}{n} \sum_{j=0}^{n-1} g(x-x_j) e_k(x_j) = \frac{c_{-k,n}(g(x-\cdot))}{c_{k,n}(g)}.$$

Recall the formula of aliasing for  $w \in \mathcal{A}$ :

$$c_{k,n}(w) = \sum_{r=-\infty}^{\infty} (w, e_{k+rn}).$$

Since

$$g(x-t) = \sum_{s=-\infty}^{\infty} d_s e_s(x) e_s(-t) = \sum_{s=-\infty}^{\infty} d_{-s} e_{-s}(x) e_s(t)$$

we get

$$c_{-k,n}(g(x-\cdot)) = \sum_{r=-\infty}^{\infty} d_{k-rn} e_{k-rn}(x) = \sum_{r=-\infty}^{\infty} d_{k+rn} e_{k+rn}(x),$$

which completes the proof in view of

$$Q_n(e_k)(x) = \frac{c_{-k,n}(g(x-\cdot))}{c_{k,n}(g)}.$$

	-	-

**Proposition 4.2.** Let n = 2m + 1. Then  $Q_n(u)$  possesses the discrete Fourier representation

$$Q_n(u) = \sum_{k=-m}^m c_{k,n}(u)Q_n(e_k).$$

Proof. The trigonometric polynomial

$$T_m(u) = \sum_{k=-m}^m c_{k,n}(u)(e_k)$$

satisfies the interpolation conditions

$$v(x_j) = u(x_j), \qquad 0 \leq j < n.$$

Since  $Q_n(T_m(u)) = Q_n(u)$  the linearity of  $Q_n$  completes the proof.

**Proposition 4.3.** The exponential interpolants are orthogonal:

(i)  $(Q_n(e_k), Q_n(e_l))_d = 0, 0 < |k - l| < n.$ (ii)  $(Q_n(e_k), Q_n(e_l)) = 0, 0 < |k - l| < n.$ Moreover, the relations

(iii) 
$$(Q_n(e_k), Q_n(e_k))_d = \frac{1}{c_{k,n}(g)^2} \sum_{r=-\infty}^{\infty} d_{k+rn}, \ 0 \le k < n,$$
  
(iv)  $(Q_n(e_k), Q_n(e_k)) = \frac{1}{c_{k,n}(g)^2} \sum_{r=-\infty}^{\infty} (d_{k+rn})^2, \ 0 \le k < n$   
hold.

Proof. The relations of Proposition 4.3 follow from Fourier expansions of the exponential interpolants and the definition of the inner product of the periodic Hilbert space.  $\Box$ 

### 5. Convergence of the exponential interpolants

We start with investigating the approximation order of the exponential interpolant in the norm of  $\mathcal{H}_d$ . For this purpose we introduce the quantities

$$D_{r,n} = c_{r,n}(g) - d_r = \sum_{l \neq 0}^{\infty} d_{r+ln}, \quad 0 \le r \le m, \ n = 2m + 1.$$

Recall that

$$d_{-k} = d_k > 0 \quad (k \in \mathbb{Z}), \qquad d_k > d_{k+1} \quad (k \ge 0).$$

Then we have

$$D_{r,n} \leqslant \sum_{l=1}^{\infty} d_{lm} =: D_n, \qquad 0 \leqslant r \leqslant m, \ n = 2m+1.$$

It is obvious that

$$D_n > D_{n+1}, \qquad \lim_{n \to \infty} D_n = 0.$$

In many cases we have

$$D_n \leqslant \alpha \cdot d_m$$

where  $\alpha$  is a constant independent of *n*. In particular this is true for our examples.

Example 1.

$$D_n = \frac{1}{m^{2r}} \sum_{s=1}^{\infty} s^{-2r} = d_m \sum_{s=1}^{\infty} s^{-2r}.$$

Example 2.

$$D_n = \sum_{s=1}^{\infty} e^{-smb} \leqslant \frac{e^{-mb}}{1 - e^{-b}} = d_m \frac{1}{1 - e^{-b}}.$$

**Proposition 5.1.** The asymptotic relation

$$\|e_k - Q_n(e_k)\|_d = \mathscr{O}(\sqrt{D_n}) \qquad (n \to \infty)$$

holds.

Proof. We assume without loss of generality that  $0 \le k \le m$ , n = 2m + 1. Recall that

$$Q_n(e_k) = \frac{1}{c_{k,n}(g)} \sum_{r=-\infty}^{\infty} d_{k+rn} e_{k+rn}(x).$$

Then we obtain

$$(\|e_{k} - Q_{n}(e_{k})\|_{d})^{2} = \frac{1}{d_{k}} \left|1 - \frac{d_{k}}{c_{k,n}(g)}\right|^{2} + \frac{1}{c_{k,n}(g)^{2}} \sum_{r \neq 0} d_{k+rn}$$
$$= \frac{1}{d_{k}} \left|\frac{D_{k,n}}{c_{k,n}(g)}\right|^{2} + \frac{1}{c_{k,n}(g)^{2}} D_{k,n}$$
$$\leqslant \frac{D_{n}^{2}}{d_{k}^{3}} + \frac{D_{n}}{d_{k}^{2}} = \mathscr{O}\left(\frac{D_{n}}{d_{k}^{2}}\right) = \mathscr{O}(D_{n})$$

as  $n \to \infty$ .

Proposition 5.2. The estimate

$$\|e_k - Q_n(e_k)\| \leqslant \sqrt{2} \frac{D_n}{d_k}$$

holds for  $|k| \leq m$ , n = 2m + 1. In particular we have

$$||e_k - Q_n(e_k)|| = \mathscr{O}(D_n)(n \to \infty).$$

**Proof**. As in the proof of Proposition 5.1 we have for  $0 \le k \le m$  and n = 2m+1

$$\begin{aligned} \|e_k - Q_n(e_k)\|^2 &= \left|1 - \frac{d_k}{c_{k,n}(g)}\right|^2 + \frac{1}{c_{k,n}(g)^2} \sum_{r \neq 0} (d_{k+rn})^2 \\ &= \left|\frac{D_{k,n}}{c_{k,n}(g)}\right|^2 + \frac{1}{c_{k,n}(g)^2} (D_{k,n})^2 \\ &\leqslant \frac{(D_n)^2}{d_k^2} + \frac{1}{d_k^2} (D_n)^2 = \frac{2 \cdot D_n^2}{d_k^2}. \end{aligned}$$

Using the discrete Fourier representation of the optimal periodic interpolant  $Q_n(u)$ we extend Proposition 5.2 to trigonometric polynomials.

**Proposition 5.3.** Let  $u \in \tau_m$  be a trigonometric polynomial of order m. Then the estimate

$$\|u-Q_n(u)\| \leqslant \sqrt{2}D_n \|u\|_{d^2}$$

holds with n = 2m + 1 and  $(d^2)_k = (d_k)^2$ .

Proof. It follows from Proposition 4.1 that

$$(e_k - Q_n(e_k), e_1 - Q_n(e_1)) = 0, \qquad 0 < |k - 1| < n.$$

Taking into account Proposition 4.2 and Proposition 5.2 we can conclude

$$||u - Q_n(u)||^2 = \sum_{k=-m}^m (u, e_k) [e_k - Q_n(e_k)]||^2$$
$$= \sum_{k=-m}^m |(u, e_k)|^2 ||e_k - Q_n(e_k)||^2$$
$$\leqslant \left[\sum_{k=-m}^m \frac{1}{d_k^2} |(u, e_k)|^2\right] \cdot 2 \cdot D_n^2,$$

i.e., we have shown

$$||u - Q_n(u)||^2 \leq 2 \cdot D_n^2 ||u||_{d^2}.$$

### 6. CONVERGENCE IN PERIODIC HILBERT SPACES

We start with a qualitative result. Recall first that

$$S_m(u) = \sum_{k=-m}^m (u, e_k) e_k$$

satisfies

$$\lim_{m\to\infty} \|u-S_m(u)\|_d = 0, \qquad u \in \mathcal{H}_d.$$

**Proposition 6.1.** Let  $u \in \mathcal{H}_d$ . Then

$$\lim_{n \to \infty} \|u - Q_n(u)\|_d = 0.$$

Proof. Given  $\varepsilon > 0$  there exists  $r \in \mathbb{N}$  such that

$$\|u-S_r(u)\|_d<\varepsilon.$$

It follows from Proposition 5.3, that there exists a  $q \in \mathbb{N}$  depending only on r such that

$$||S_r(u) - Q_n(S_r(u))||_d < \varepsilon, \qquad n \ge q.$$

Since  $Q_n$  is an orthogonal projector on  $\mathcal{H}_d$  we can conclude

$$\begin{aligned} \|u - Q_n(u)\|_d &\leq \|u - S_r(u)\|_d + \|S_r(u) - Q_n(S_r(u))\|_d + \|Q_n(u - S_r(u))\|_d \\ &\leq 2\|u - S_r(u)\|_d + \|S_r(u) - Q_n(S_r(u))\|_d. \end{aligned}$$

i.e., we have

$$||u - Q_n(u)||_d \leq 3\varepsilon, \qquad n \geq q.$$

This completes the proof of Proposition 6.1.

**Proposition 6.2.** Let  $u \in \mathcal{H}_{d^2}$  and n = 2m + 1. Then

$$||Q_n(u-S_m(u))|| \leq D_n ||u-S_m(u)||_{d^2}.$$

Proof. Put

$$v = u - S_m(u).$$

Then we have

$$(v, e_k) = 0, \qquad |k| \leqslant m.$$

Since

$$Q_n(v) = \sum_{k=-m}^m c_{k,n}(v)Q_n(e_k)$$

it follows from Proposition 4.3 that

$$||Q_n(v)||^2 = \sum_{k=-m}^m |c_{k,n}(v)|^2 ||Q_n(e_k)||^2.$$

Recall that

$$(Q_n(e_k), Q_n(e_k)) = \frac{1}{c_{k,n}(g)^2} \sum_{r=-\infty}^{\infty} (d_{k+rn})^2, \qquad 0 \le k < n,$$

280

which yields

$$\|Q_n(e_k)\|^2 \leqslant 1.$$

This shows

$$||Q_n(v)||^2 \leq \sum_{k=-m}^m |c_{k,n}(v)|^2.$$

Due to

$$(v, e_k) = 0, \qquad |k| \leqslant m$$

we obtain

$$\sum_{k=-m}^{m} |c_{k,n}(v)|^2 = \sum_{k=-m}^{m} \left| \sum_{r\neq 0} (v, e_{k+rn}) \right|^2$$
$$= \sum_{k=-m}^{m} \left| \sum_{r\neq 0} \frac{(v, e_{k+rn})}{d_{k+rn}} d_{k+rn} \right|^2$$
$$\leqslant \sum_{k=-m}^{m} \left( \sum_{r\neq 0} \frac{|(v, e_{k+rn})|^2}{(d_{k+rn})^2} \cdot \sum_{s\neq 0} (d_{k+sn})^2 \right)$$
$$\leqslant \sum_{k=-m}^{m} \sum_{r\neq 0} \frac{|(v, e_{k+rn})|^2}{(d_{k+rn})^2} (D_n)^2$$
$$= (||v||_d^2)^2 (D_n)^2,$$

i.e., we have shown that

$$||Q_n(v)||^2 \leq \sum_{k=-m}^m |c_{k,n}(v)|^2 \leq (|v||_{d^2})^2 (D_n)^2.$$

**Proposition 6.3.** Let  $u \in \mathcal{H}_{d^2}$ . Then

$$||u-S_m(u)|| \leq D_n ||u-S_m(u)||_{d^2}.$$

Proof. If  $u \in \mathcal{H}_{d^2}$  then

$$\|u - S_m(u)\|^2 = \sum_{|k| > m} \frac{|(u, e_k)|^2}{(d_k)^2} (d_k)^2$$
$$\leqslant \sum_{|k| > m} \frac{|(u, e_k)|^2}{(d_k)^2} (d_m)^2$$
$$\leqslant \sum_{|k| > m} \frac{|(u, e_k)|^2}{(d_k)^2} (D_n)^2,$$

281

i.e., we have shown

$$||u - S_m(u)|| \leq D_n ||u - S_m(u)||_{d^2}.$$

We conclude with the main quantitative result which extends Proposition 5.3 to the periodic Hilbert space  $\mathcal{H}_{d^2}$ .

**Proposition 6.4.** Let  $u \in \mathcal{H}_{d^2}$ . Then

$$||u - Q_n(u)|| \leq 4D_n ||u||_{d^2}.$$

 $\Pr{o\,o\,f.}$  Taking into account Proposition 5.3 and Proposition 6.2 we can conclude

$$\begin{aligned} \|u - Q_n(u)\| &\leq \|u - S_m(u)\| + \|S_m(u) - Q_n(S_m(u)\| + \|Q_n(u - S_m(u))\| \\ &\leq D_n \|u - S_m(u)\|_{d^2} + \sqrt{2}D_n \|S_m(u)\|_{d^2} + D_n \|u - S_m(u)\|_{d^2} \\ &\leq 4D_n \|u\|_{d^2}. \end{aligned}$$

We apply Proposition 6.4 to obtain quantitative bounds for the mean square error of optimal periodic interpolation in our specific examples.

Example 1.

$$D_n = \frac{1}{m^{2r}} \sum_{s=1}^{\infty} s^{-2r} = d_m \sum_{s=1}^{\infty} s^{-2r}.$$

If u is a function of the periodic Sobolev space  $\mathcal{W}^{2r}$  then Proposition 6.4 yields

$$||u - Q_n(u)|| = \mathcal{O}(m^{-2r}), \qquad n = 2m + 1 \to \infty.$$

Example 2.

$$D_n = \sum_{s=1}^{\infty} e^{-sbm} \leqslant \frac{e^{-mb}}{1 - e^{-b}} = d_m \frac{1}{1 - e^{-b}}.$$

In this case u has to satisfy the condition

$$\sum_{k=-\infty}^{\infty} |(u,e_k)|^2 \cdot e^{2b|k|} < \infty.$$

Then Proposition 6.4 implies

$$||u - Q_n(u)|| = \mathcal{O}(e^{-mb}), \qquad n = 2m + 1 \to \infty.$$

#### References

- I. Babuška: Über universal optimale Quadraturformeln. Teil 1. Apl. mat. 13 (1968), 304-308; Teil 2. Apl. mat. 13 (1968), 388-404.
- [2] E. W. Cheney: Approximation by functions of nonclassical form. Approximation theory, Spline functions and Applications (S.P. Singh, ed.). NATO ASI Series C, 356, 1992, pp. 1-18.
- [3] F.-J. Delvos: Periodic interpolation on uniform meshes. J. Approximation Theory 51 (1987), 71-80.
- [4] F.-J. Delvos: Approximation by optimal periodic interpolation. Apl. mat. 35 (1990), 451-457.
- [5] S.L. Lee, W.S. Tang: Approximation and spectral properties of periodic spline operators. Proc. Edinburgh Math. Soc. 34 (1991), 363-382.
- [6] S.L. Lee, R.C.E. Tan, W.S. Tang: L<sub>2</sub>-approximation by the translates of a function and related attenuation factors. Numer. Math. 60 (1992), 549-568.
- [7] F. Locher: Interpolation on uniform meshes by the translates of the function and related attenuation factors. Math. Comput. 37 (1981), 403-416.
- [8] M. Práger: Universally optimal approximation of functionals. Apl. mat. 24 (1979), 406-420.

Author's address: Franz-Jürgen Delvos, University of Siegen, FB Mathematik I, D-59900 Siegen, Germany.